(Examination Branch)

25 /03/2024

(N.B: The result is provisional; kindly confirm the same with the grade card issued by the University)

GRADE CARD

Programme : Post Graduate Diploma in Yoga Education

- Semester : First Semester, November 2022
- Name : AJISHA K C

Register No: YE201

										•		
Course	Course Title	M	ax. Ma	arks	Ma	rks Aw	varded	Cr	GP	G	СР	Result
Code		CE	ESE	Total	CE	ESE	Total		Gr	0	CF	Result
Theory												
PGDYE01C01	Foundations of Yoga	40	60	100	34	47	81	4	8.1	Α	32.4	Р
PGDYE01C02	Applied Anatomy & Physiology	40	60	100	33	43	76	4	7.6	B+	30.4	Р
PGDYE01C03	Principles, Methods & Practices of Hatha Yoga	40	60	100	33	49	82	4	8.2	A	32.8	Р
PGDYE01C04	Methodology of Teaching Yoga (Teaching Ability)	40	60	100	28	46	74	4	7.4	B+	29.6	Р
Practical												
PGDYE01C05	Yoga Practical- I	40	60	100	31	39	70	4	7.0	B+	28.0	Р
	TOTAL	200	300	500		•		20		•	153.2	
GPA	7.66	7.66 Grade			Α					PASSED		

Cr: Credit; CE: Continuous Evaluation; ESE End Semester Evaluation; GP: Grade Point; G:Grade; CP: Credit Point; P: Passed; F: Failed Grade Point Average(GPA)= Sum of(Grade Points in a course multiplied by its credit)/(Sum of Credits of Courses).

Letter Grade	A+	А	B+	В	С
Grade Point Average	8.5 & above	7.5 & above but less	6.5 & above but less	5.5 & above but less	5& above but less
		than 8.5	than 7.5	than 6.5	than 5

PROMOTION AND PASS: Students who secure not less than 50% marks in aggregate and separately in internal and external assessments in each of the theory papers and in practical shall be declared to have passed the PG Diploma in Yoga Education Examination.

KANNUR ⁴ UNIVERSITY

(Examination Branch)

•

(N.B: The result is provisional; kindly confirm the same with the grade card issued by the University)

GRADE CARD

Programme : Post Graduate Diploma in Yoga Education Semester : First Semester, November 2022 Name

: AMRUTHA. C

										Registe	r No: YE	202	
Course	Course Title	М	ax. Ma	arks	Ma	rks Aw	arded	Cr	GP	G	СР	Docult	
Code	Course fille	CE	ESE	Total	CE	ESE	Total	Cr	GP	0	CP	Result	
Theory													
PGDYE01C01	Foundations of Yoga	40	60	100	28	45	73	4	7.3	B+	29.2	Р	
PGDYE01C02	Applied Anatomy & Physiology	40	60	100	34	36	70	4	7.0	B+	28.0	Р	
PGDYE01C03	Principles, Methods & Practices of Hatha Yoga	40	60	100	34	45	79	4	7.9	В+	31.6	Ρ	
PGDYE01C04	Methodology of Teaching Yoga (Teaching Ability)	40	60	100	28	40	68	4	6.8	В	27.2	Ρ	
Practical													
PGDYE01C05	Yoga Practical- I	40	60	100	34	42	76	4	7.6	B+	30.4	Р	
	TOTAL	200	300	500				20			146.4		
GPA	7.32	Grade				B+					PASSED		

Cr: Credit; CE: Continuous Evaluation; ESE End Semester Evaluation; GP: Grade Point; G:Grade; CP: Credit Point; P: Passed; F: Failed Grade Point Average(GPA)= Sum of(Grade Points in a course multiplied by its credit)/(Sum of Credits of Courses).

Letter Grade	A+	А	B+	В	С
Grade Point Average	8.5 & above	7.5 & above but less	6.5 & above but less	5.5 & above but less	5& above but less
		than 8.5	than 7.5	than 6.5	than 5

PROMOTION AND PASS: Students who secure not less than 50% marks in aggregate and separately in internal and external assessments in each of the theory papers and in practical shall be declared to have passed the PG Diploma in Yoga Education Examination.

(Examination Branch)

25 /03/2024

(N.B: The result is provisional; kindly confirm the same with the grade card issued by the University)

GRADE CARD

Programme

Semester

: First Semester, November 2022

: Post Graduate Diploma in Yoga Education

Name : ANUYUKTHA N

Register No: YE203

Course	Course Title	M	ax. Ma	arks	Ma	rks Aw	varded	Cr	GP	G	СР	Result
Code	course ritle	CE	ESE	Total	CE	ESE	Total		Gr	U	Cr	Nesult
Theory												
PGDYE01C01	Foundations of Yoga	40	60	100	31	37	68	4	6.8	В	27.2	Р
PGDYE01C02	Applied Anatomy & Physiology	40	60	100	30	30	60	4	6.0	В	24.0	Р
PGDYE01C03	Principles, Methods & Practices of Hatha Yoga	40	60	100	31	46	77	4	7.7	B+	30.8	Ρ
PGDYE01C04	Methodology of Teaching Yoga (Teaching Ability)	40	60	100	30	39	69	4	6.9	В	27.6	Ρ
Practical30												
PGDYE01C05	Yoga Practical- I	40	60	100	30	40	70	4	7.0	B+	28.0	Р
	TOTAL	200	300	500				20			137.6	
GPA	GPA 6.88 Grade			B+						PASSED		

Cr: Credit; CE: Continuous Evaluation; ESE End Semester Evaluation; GP: Grade Point; G:Grade; CP: Credit Point; P: Passed; F: Failed Grade Point Average(GPA) = Sum of(Grade Points in a course multiplied by its credit)/(Sum of Credits of Courses).

Letter Grade	A+	А	B+	В	C
Grade Point Average	8.5 & above	7.5 & above but less	6.5 & above but less	5.5 & above but less	5& above but less
		than 8.5	than 7.5	than 6.5	than 5

PROMOTION AND PASS: Students who secure not less than 50% marks in aggregate and separately in internal and external assessments in each of the theory papers and in practical shall be declared to have passed the PG Diploma in Yoga Education Examination.

(Examination Branch)

25 /03/2024

(N.B: The result is provisional; kindly confirm the same with the grade card issued by the University)

GRADE CARD

Programme : Post Graduate Diploma in Yoga Education

- Semester : First Semester, November 2022
- Name : DILEENA. P.K

Register No: YE204

Course	Course Title	M	ax. Ma	arks	Ma	rks Aw	varded	Cr	GP	G	СР	Result
Code	Course fille	CE	ESE	Total	CE	ESE	Total					
Theory												
PGDYE01C01	Foundations of Yoga	40	60	100	30	49	79	4	7.9	B+	31.6	Р
PGDYE01C02	Applied Anatomy & Physiology	40	60	100	35	43	78	4	7.8	B+	31.2	Ρ
PGDYE01C03	Principles, Methods & Practices of Hatha Yoga	40	60	100	37	48	85	4	8.5	А	34.0	Ρ
PGDYE01C04	Methodology of Teaching Yoga (Teaching Ability)	40	60	100	35	45	80	4	8.0	А	32.0	Ρ
Practical												
PGDYE01C05	Yoga Practical- I	40	60	100	36	35	71	4	7.1	B+	28.4	Р
	TOTAL	200	300	500				20			157.2	
GPA 7.86 Grade			Α					PASSED				

Cr: Credit; CE: Continuous Evaluation; ESE End Semester Evaluation; GP: Grade Point; G:Grade; CP: Credit Point; P: Passed; F: Failed Grade Point Average(GPA)= Sum of(Grade Points in a course multiplied by its credit)/(Sum of Credits of Courses).

Letter Grade	A+	А	B+	В	С
Grade Point Average	8.5 & above	7.5 & above but less	6.5 & above but less	5.5 & above but less	5& above but less
		than 8.5	than 7.5	than 6.5	than 5

PROMOTION AND PASS: Students who secure not less than 50% marks in aggregate and separately in internal and external assessments in each of the theory papers and in practical shall be declared to have passed the PG Diploma in Yoga Education Examination.

(Examination Branch)

25/03/2024

(N.B: The result is provisional; kindly confirm the same with the grade card issued by the University)

GRADE CARD

Programme

: Post Graduate Diploma in Yoga Education

: First Semester, November 2022

Semester

Name

: SEEJA. S

									Re	egiste	r No: Y	E 205
Course		M	ax. Ma	arks	Ma	rks Aw	varded	Cr	GP	G	СР	Result
Code	Course Title	CE	ESE	Total	CE	ESE	Total					
Theory												
PGDYE01C01	Foundations of Yoga	40	60	100	21	48	69	4	6.9	В	27.6	Р
PGDYE01C02	Applied Anatomy & Physiology	40	60	100	30	47	77	4	7.7	B+	30.8	Р
PGDYE01C03	Principles, Methods & Practices of Hatha Yoga	40	60	100	34	49	83	4	8.3	А	33.2	Ρ
PGDYE01C04	Methodology of Teaching Yoga (Teaching Ability)	40	60	100	34	45	79	4	7.9	B+	31.6	Ρ
Practical												
PGDYE01C05	Yoga Practical- I	40	60	100	30	34	64	4	6.4	В	25.6	Р
	TOTAL	200	300	500				20			148.8	
GPA	7.44		Gr	ade	B+					PASSED		

Cr: Credit; CE: Continuous Evaluation; ESE End Semester Evaluation; GP: Grade Point; G:Grade; CP: Credit Point; P: Passed; F: Failed Grade Point Average(GPA)= Sum of(Grade Points in a course multiplied by its credit)/(Sum of Credits of Courses).

Letter Grade	A+	А	B+	В	C
Grade Point Average	8.5 & above	7.5 & above but less	6.5 & above but less	5.5 & above but less	5& above but less
		than 8.5	than 7.5	than 6.5	than 5

PROMOTION AND PASS: Students who secure not less than 50% marks in aggregate and separately in internal and external assessments in each of the theory papers and in practical shall be declared to have passed the PG Diploma in Yoga Education Examination.

(Examination Branch)

25/03/2024

(N.B: The result is provisional; kindly confirm the same with the grade card issued by the University)

GRADE CARD

Programme

: Post Graduate Diploma in Yoga Education

Semester

: First Semester, November 2022

Name

: SHAMNA. M. P

									-	0		
Course	Course Title	Μ	ax. Ma	arks	Ma	rks Aw	varded	Cr	GP	G	СР	Result
Code	Course Title	CE	ESE	Total	CE	ESE	Total					
Theory												
PGDYE01C01	Foundations of Yoga	40	60	100	37	49	86	4	8.6	А	34.4	Р
PGDYE01C02	Applied Anatomy & Physiology	40	60	100	32	37	69	4	6.9	В	27.6	Р
PGDYE01C03	Principles, Methods & Practices of Hatha Yoga	40	60	100	37	48	85	4	8.5	А	34.0	Ρ
PGDYE01C04	Methodology of Teaching Yoga (Teaching Ability)	40	60	100	30	44	74	4	7.4	B+	29.6	Ρ
Practical												
PGDYE01C05	Yoga Practical- I	40	60	100	32	41	73	4	7.3	B+	29.2	Р
	TOTAL	200	300	500				20			154.8	
GPA	7.74	Grade				Α				PASSED		

Cr: Credit; CE: Continuous Evaluation; ESE End Semester Evaluation; GP: Grade Point; G:Grade; CP: Credit Point; P: Passed; F: Failed Grade Point Average(GPA)= Sum of(Grade Points in a course multiplied by its credit)/(Sum of Credits of Courses).

Letter Grade	A+	А	B+	В	С
Grade Point Average	8.5 & above	7.5 & above but less	6.5 & above but less	5.5 & above but less	5& above but less
		than 8.5	than 7.5	than 6.5	than 5

PROMOTION AND PASS: Students who secure not less than 50% marks in aggregate and separately in internal and external assessments in each of the theory papers and in practical shall be declared to have passed the PG Diploma in Yoga Education Examination.

CONTROLLER OF EXAMINATIONS

(Examination Branch)

25/03/2024

(N.B: The result is provisional; kindly confirm the same with the grade card issued by the University)

GRADE CARD

Programme

: Post Graduate Diploma in Yoga Education

Semester

- : First Semester, November 2022
- Name
- : SIVADEV A

										0		-
Course	Course Title	Max. Marks			Marks Awarded			Cr	GP	G	СР	Result
Code	course ritie	CE	ESE	Total	CE	ESE	Total	C	5	U	Cr	Nesuit
Theory												
PGDYE01C01	Foundations of Yoga	40	60	100	30	45	75	4	7.5	B+	30.0	Р
PGDYE01C02	Applied Anatomy & Physiology	40	60	100	34	33	67	4	6.7	В	26.8	Ρ
PGDYE01C03	Principles, Methods & Practices of Hatha Yoga	40	60	100	35	48	83	4	8.3	А	33.2	Ρ
PGDYE01C04	Methodology of Teaching Yoga (Teaching Ability)	40	60	100	32	45	77	4	7.7	B+	30.8	Ρ
Practical												
PGDYE01C05	Yoga Practical- I	40	60	100	35	40	75	4	7.5	B+	30.0	Р
	TOTAL	200	300	500				20			150.8	
GPA	7.54	7.54 Grade		Α				PASSED				

Cr: Credit; CE: Continuous Evaluation; ESE End Semester Evaluation; GP: Grade Point; G:Grade; CP: Credit Point; P: Passed; F: Failed Grade Point Average(GPA)= Sum of(Grade Points in a course multiplied by its credit)/(Sum of Credits of Courses).

Letter Grade	A+	А	B+	В	C
Grade Point Average	8.5 & above	7.5 & above but less	6.5 & above but less	5.5 & above but less	5& above but less
		than 8.5	than 7.5	than 6.5	than 5

PROMOTION AND PASS: Students who secure not less than 50% marks in aggregate and separately in internal and external assessments in each of the theory papers and in practical shall be declared to have passed the PG Diploma in Yoga Education Examination.

CONTROLLER OF EXAMINATIONS

(Examination Branch)

25 /03/2024

(N.B: The result is provisional; kindly confirm the same with the grade card issued by the University)

GRADE CARD

Programme

: Post Graduate Diploma in Yoga Education

Semester

: First Semester, November 2022

Name

: SOMASREE. R. C

										-51510	1 100. 1	
Course	Course Title	Max. Marks			Marks Awarded		Cr	GP	G	СР	Result	
Code	Course fille	CE	ESE	Total	CE	ESE	Total		GP	G	CP	Result
Theory												
PGDYE01C01	Foundations of Yoga	40	60	100	34	44	78	4	7.8	B+	31.2	Р
PGDYE01C02	Applied Anatomy & Physiology	40	60	100	32	42	74	4	7.4	B+	29.6	Р
PGDYE01C03	Principles, Methods & Practices of Hatha Yoga	40	60	100	35	47	82	4	8.2	A	32.8	Ρ
PGDYE01C04	Methodology of Teaching Yoga (Teaching Ability)	40	60	100	32	44	76	4	7.6	B+	30.4	Р
Practical												
PGDYE01C05	Yoga Practical- I	40	60	100	33	39	72	4	7.2	B+	28.8	Р
	TOTAL	200	300	500		***		20	**:	*	152.8	
GPA	7.64	Grade				Α					PASSED	

Cr: Credit; CE: Continuous Evaluation; ESE End Semester Evaluation; GP: Grade Point; G:Grade; CP: Credit Point; P: Passed; F: Failed Grade Point Average(GPA)= Sum of(Grade Points in a course multiplied by its credit)/(Sum of Credits of Courses).

Letter Grade	A+	А	B+	В	C	
Grade Point Average	8.5 & above	7.5 & above but less	6.5 & above but less	5.5 & above but less	5& above but less	
		than 8.5	than 7.5	than 6.5	than 5	

PROMOTION AND PASS: Students who secure not less than 50% marks in aggregate and separately in internal and external assessments in each of the theory papers and in practical shall be declared to have passed the PG Diploma in Yoga Education Examination.

CONTROLLER OF EXAMINATIONS

(Examination Branch)

25/03/2024

(N.B: The result is provisional; kindly confirm the same with the grade card issued by the University)

GRADE CARD

Programme

: Post Graduate Diploma in Yoga Education

Semester

: First Semester, November 2022

Name

: VYSHNAVI. P

										0		
Course	Course Title	Max. Marks			Marks Awarded		Cr	GP	G	СР	Result	
Code	Course fille	CE	ESE	Total	CE	ESE	Total					
Theory												
PGDYE01C01	Foundations of Yoga	40	60	100	30	46	76	4	7.6	B+	30.4	Р
PGDYE01C02	Applied Anatomy & Physiology	40	60	100	28	42	70	4	7.0	B+	28.0	Ρ
PGDYE01C03	Principles, Methods & Practices of Hatha Yoga	40	60	100	34	46	80	4	8.0	A	32.0	Ρ
PGDYE01C04	Methodology of Teaching Yoga (Teaching Ability)	40	60	100	30	44	74	4	7.4	B+	29.6	Ρ
Practical												
PGDYE01C05	Yoga Practical- I	40	60	100	28	43	71	4	7.1	B+	28.4	Р
	TOTAL	200	300	500				20			148.4	
GPA 7.42 Grade		ade				B+			PA	SSED		

Cr: Credit; CE: Continuous Evaluation; ESE End Semester Evaluation; GP: Grade Point; G:Grade; CP: Credit Point; P: Passed; F: Failed Grade Point Average(GPA)= Sum of(Grade Points in a course multiplied by its credit)/(Sum of Credits of Courses).

Letter Grade	A+	А	B+	В	С
Grade Point Average	8.5 & above	7.5 & above but less	6.5 & above but less	5.5 & above but less	5& above but less
		than 8.5	than 7.5	than 6.5	than 5

PROMOTION AND PASS: Students who secure not less than 50% marks in aggregate and separately in internal and external assessments in each of the theory papers and in practical shall be declared to have passed the PG Diploma in Yoga Education Examination.

CONTROLLER OF EXAMINATIONS